BES s, T, ER, SRR
AN ST, HEREESHRER

OEme--- i3 NFIEEERTPES
AR T, AREESAERR

FIHETAAE (A

At
e A - 'y

Tedia:

— E—5.

8 X 6= 0X9= 0-+-6= 6X 7= 5 X 0=
0-+4= 4 X0= 0-+7= 6 X 6= 6X9=
9X6+5= 6X3-7= 5 X 519= 4 X8-4= 4 X4+8=

— THEHWMHMER TS RIETEHE “ 7 .

N 20 20
9, 17700 00

( ) ( )
E‘ ;EE ‘E‘iﬁ‘t “_I_” €_» Ei “X” R
9 6=54 8 4=4 9 9=0 9 6=15
8. 4=32 9 9=18 0 0=0 0 4=0
Ju. E—iE, B
L BXEERS TR RTE. 2 BIXLEPRIG 4 ME—H
(XXX XXX R
(XXX XXX
eceeee
eeeeee .

)SABFER 20088 METR
QUBEEIIEE 6 MEFE FHSIMEFER( )40,

2. F19536k 2 0,808 )1
13536k 3 0. 8H0B( )1
139536k 6 0. 808 )1
F13536k 0 0. 808 )1




i, Pon, ER, SRR
'-;[_;i}i'=:‘.<__ AT, BEEESMEER

"f +j.
3\ s
B -
3 _r'“'ihﬂ

OEme--- i3 NFIEEERTPES
R T, BRREESERR

Ny BESIATE

()FI545 5 ML EAI'JIQ )&,
C+CH @)
(2)§§’|\I'Jiﬁ 4RAEFER(  )NML

L CEH gy
2_&&%%&@&%%&@%
HRUTEEIIRE 3 MYEE () TSR 3 (. B

( )&
L= H g

%‘fg m%%@ﬁfw

(D?Eﬁl%l\‘slziﬂzzﬁ 2AMERBER( )1

™D
QEEEIMEREE( IME,
L+ H 4y

B BRI

! BAVKTI8RE o

(1)AIRARILEE? ()RR TIUR?



OSmK--- S HEHERSHS g
1T, BAREESHRRE

2. F 36 R EHE.
(DINREBAR 4+ R FESLAN?

(2)ERER 6 BEZ FIBARNR?

3. —HFFPA 24 WIMHEEXRE 4 W/MEEXE 3 W IERE
FBE, AvELLIMELRNK?




OSRG-S FBHERSHES i
1T, BAREESHRRE

—, 48 0 0 42 0 0 0 O 36 54 59

11 34 28 24

— ) )

=. X - - + X + + X8
+ B X

M. B

A, 1. (D6 (2)2

2.9 6 3 2

7~ 1L(1)4 20+5=4(&)

(2)5 20=4=5(4)

2. 12 4 12+3=4(R)

3. (1)9 18+2=9(4)

(2)2 18+9=2(4)

+. 1. (1)48-+8=6(f)
(2)8x2=16(1R) 48-16=32(1R)

2. (1)36+4=9(A) (2)36-6=6(&)

3. 24+4-6(K) 24-+-3-8(XK)

8-6=2(X)






